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Carbon Budget Diagram
Boxes are reservoirs for carbon, i.e., where carbon is stored. Numbers in boxes are in units of Petagrams (1015 grams) of carbon.

Arrows are fluxes or movement of carbon between reservoirs. Numbers are in units of Petagrams of carbon per year.

· A sink removes carbon from a reservoir (arrow pointing away)

· A source adds carbon to a reservoir (arrow pointing inward)
The numbers and fluxes in regular font represent the carbon budget before the industrial revolution (before 1750). The fluxes in bold font represent the carbon budget today, which includes changes initiated by human activities. The present day amount of carbon in the atmosphere is 825 Petagrams.
Photosynthesis : 
CO2 + H2O + Sunlight (C(H2O) + O2
Respiration / Decay:
C(H2O) + O2 ( CO2 + H2O + Energy
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